Kidambi Srikanth is a famous—
(A) Shooter

(B) Boxer

(C) Shuttler -

(D) None of these

Expand CBI—

(A) Central Branch of Investigation
(B) Central Buearo of Investigation
(C) Criminal Buearo of Investigation
(D) None of these

The statue of Gomateshwara at
Shravanabelagola was built by—

(A) Chandragupta Maurya

(B) Kharavela

(C) Amoghavarsha

(D) None of these

Where is Golconda Fort ?
(A) Jaipur (B) Hyderabad
(C) Delhi (D) Pithoragarh

Kuchipudi is a dance from—
(A) Andhra Pradesh (B) Uttarakhand
(C) Orissa (D) Tamilnadu

The day 24th October is celebrated as—
(A) International Education Day

(B) United Nations Day

(C) National Women’s Day

(D) None of these

Theator Artists in Rajya Sabha ?
(A) Jayshree =~ (B) AmitabhBacchan
(C) Ajay Devagan (D) None of these

Which Article of our constitution has
abolished untouchability ?

(A) Article 14 (B) Article 15

(C) Article 16 (D) Article 17

Miss World 2014 is—
(A) Koyal Rana

(B) Bigelow

- (C) Rolene Strauss

(D) None of these
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(A) Aedes
(C) BothA& B

Who directed the film ‘Dweepa’ (Kannada-
Colour-2001) ? ,

(A) Girish Kasaravalli (B) Girish Karnad
(C) Nagabharana (D) None of these

Blood group referred as ‘Universal Donar’ is—
(A) A (B) AB
© o D) B

Vitamin C is also known as—
(A) Nicotinic acid  (B) Riboflavin
(C) Ascorbic acid (D) Calcifarol

Malaria is transmitted to man by—
(B) Female Anophophele
(D) None of these.

Where is Humayun’s Tomb located ?
(A) Agra (B) Hyderabad
(C) Lahore (D) Delhi

The Chief Minister whose pet name is “Tipu—
(A) Akhilesh Yadav (B) Harish Rawat
(C) Nitish Kumar (D) None of these

AIDS is caused by a—
(A) Bacteria (B) Protozoa
(C) Helminth (D) Virus

Who amongst the following was a blind poet
who worshipped Krishna and spread Krishna
Bhakti cult ?

(A) Surdas (B) Bihari

(C) Kabir (D) Raskhan

Full Indian Constitution came into force on—

(A) 15.8.1947 (B) 26.1.1950
(C) 30.1.1948 (D) 2.10.1869

Home Rule League was launched by—
(A) Vivekanand (B) Dada Bhai Naroji
(C) Annie Besant (D) None of these

Which of the following is correctly matched—

(A) Deedihat — Bageshwar
(B) Khatima — Champawat
(C) Bhagwanpur — Chamoli
(D) Nandprayag — Chamoli
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21.

22,

23.

24,

5.

26.

27.

29,

Brahmo Samaj was founded by—
(A) David Hare

(B) Vivekanand

(C) Raja Ram Mohan Roy

(D) None of these

The famous FEiffel Tower is in—
(A) Italy (B) Germany
(C) Japan (D) Paris

‘Life Divine’ was written by—
(A) Abul Fazal (B) Sri Aurobindo
(C) Gandhiji (D) None of these

Sanchi Stupa is located near—
(A) Gaya (B) Varanasi
(C) Bhopal (D) None of these

The famous Rock Garden is located in—
(A) Shimla (B) Lucknow
(C) Chandigarh (D) None of these

On which river, largest hydropower project
(MW) in Uttarakhand state is located ?

(A) Bhagirathi & Bhilangana

(B) Tons .

(C) Kali

(D) Mandakini

Which National Park of Uttarakhand has
been granted the “World Heritage Status’ ?

(A) Rajaji National Park
(B) Nanda Devi Park
(C) Valley of Flowers
(D) None of these

28. The ornament ‘Tungyal’ is associated with—

(A) Hand
(C) Ear

(B) Leg
(D) None of these

“Rai Bahadur Patiram” is author of—
(A) Garhwal Himalaya

(B) Kumaon Ka Itihas

(C) Badrinath Ke Darshan

(D) Garhwal Ancient & Modern
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30. ‘Integrated Industrial Corporation Units’®
are situated at—
(A) Haridwar
(B) Pantnagar
(C) BothA & B
(D) None of these

31. Who is the founder of first ‘Coolie Agency’
in Uttarakhand—
(A) Thakur Jodh Singh (B) Pt. Dhaniram
(C) Om Shankar Jain (D) None of these

32. Which of the following river, meets
Alaknanda at ‘Rudraprayag’ ?
(A) Nandakini (B) Pinder
(C) Mandakini (D) Son Ganga

33. ‘Dhauli Ganga Power Project’ is located at—
(A) Dehradun (B) Tehri
(C) Almora (D) None of these

34. The sportsman ‘Madhumita Bist’ is
associated with which game ?
(A) Hockey (B) Badminton
(C) Cricket (D) Boxing

35. Which of the following pass connects
Pithoragarh and Tibet ?
(A) Lipulekh (B) Mana

(C) Niti (D) Pindari

36. Internet facility was started in India from—
(A) 1991 (B) 1975
(C) 1995 (D) 1999

37. Who was the first Education Minister of
Government of India after independence ?
(A) Dr. S. Radhakrishan
(B) Maulana Abul Kalam Azad
(C) Jawahar Lal Nehru
(D) Dr. Rajendra Prasad

38. ‘Not me, but you’ is the motto of—
(A) Scout and Guide
(B) National Cadet Corps
(C) Uttarakhand Police

30

31.

32.
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34,

35.

36.

37.

38.

(D) National Service Scheme
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54.

55

The power factor of an alternator is
determined by its—
(A) Speed

(C) Excitation

(B) Load
(D) Prime mover

An 8 pole wave connected d.c. generator has
900 armature conductors and a flux per pole
of 0.04 Wb. At what speed it must be driven

to generator 500 V ?
(A) 208.33rpm. (B) 20.833 rp.m.
(C) 900 r.p.m. (D) 1600 r.p.m.

A shunt d.c. motor of armature circuit
resistance 0.25 Q is connected to a 230 volt
d.c. supply. The input line current is 8 A and
the shunt field current 0.8 A. The e.m.f.
generated in the armature is—

(A) 230V (B) 228.2V

(C) 2318V (D) 250V

The relation between Young’s Modulus (E)
and bulk modulus (K) is given by the
relation—

mE
3(m-2)

mE
B)K=5m+1)

(A) K=

mE
3(m+2)

(C)K=

mE
2(m-1)

(D) K =

Loss of head due to sudden enlargement is
equal to—

L vi-vi
@ = ®)
o) g vy

g 2g
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The discharge of a reciprocating pump will
be maximum when the piston is at the—
(A) Beginning of delivery stroke

(B) Middle of delivery stroke

(C) End of delivery stroke

(D) None of these

In the circuit shown below, the current
through R is—

1200 g0
R =300

220 V 200 %

200 V 220 %
(A)6A (B) 4A
(C)2A (D) 0

Which of the following relations is correct—
A) V.B=p ®B) V.V=—p

(C) Vv.D=p (D) None of these
Atomic number of silicon is—

(A) 12 (B) 14
(C) 23 (D) 9

n-type silicon is obtained by doping silicon
with—

(A) Ge (B) Al

(C) Bo (D) Phosphorus
A transistor works in ......... regions.
(A) 1 B) 2

©)3 (D) 9

The o and P of a transistor are related to each
other as—

2.8 | ikl
We=57 @ B=5
p

(C) a?= (D) None of these

-
p
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64.
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68.

A 220 V d.c. shunt motor runs at 500 rpm
when the armature current is 50 A. If the
torque is Goubled, the speed will be .........
(given that Ra = 0.2 Q)

(A) 476 r.p.m. (B) 500 r.p.m.

(C) 525 r.p.m. (D) 576 r.p.m.

The “V’ curve of synchronous motor shows
the relationship between—

(A) Applied voltage and back e.m.f.

(B) Back e.m.f. and armature current

(C) Armature current and rotor field current
(D) Back e.m.f. and power factor

. A 6 pole induction motor is supplied by a 10

pole alternator which is driven at 600 r.p.m.
If the motor is running at 970 r.p.m.
determine the percentage slip ?
(A) 3% (B) 4%
(©) 5% (D) 6%

The value of Stefen Boltzman constant is
equal to—

(A) 497 x 10
(C) 497 x 10

(B) 4.97 x 10
(D) 4.97 x 10

According to Newton’s law of cooling, the
rate of heat transfer from a solid surface area
A, atatemperature t, to a fluid at temperature
t,, is given by— |

(A) Q=hA(t, +t) (B) Q=hA(,-1)

h h
© Q=3+t @ Q=7 (=1

Flywheel absorbs energy when—

(A) The turning moment is less than the
resisting moment

(B) The turning moment is equal to resisting
moment -

(C) The turning moment is greater than the
resisting moment

(D) None of these

63.

64.

65.

66.

67.

68.

SET-A
TS 220 a2 SL.El. e " 500 rp.m. W
nﬁimm%maﬁmmmm%n
Ift 2 & g R R SR @ e T
.......... 7 s (g & Ra=0.2 3iW)
(A) 476 r.p.m. (B) 500 r.p.m.
(C) 525 r.p.m. (D) 576 r.p.m.

qeaswias Hel & H o
e R Fa 2

(A) & dieeal au1 9vd fa. | |«
(B) 7v9 fa. 9. s a1 AW 49N
(C) =R &I a2 TR &F o
(D) wv= fa. a1 9@ qun wifsd o

TF 6 yF WO WX F G, TF 10 97
T g A S €, & 600 rp.m.
T R =t @I 1 ARk WK 970 rp.m. R A

FX @I B O g feew 3@ Fife)

(A) 3% B) 4%
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© Q=7+t 0 Q=7(-1)

Tfaaers qiEdl Sl STagiiva wid § Sats—
(A)gﬁa@wmnﬁiﬁ%ﬂ Il % He
FH T
(B)aeﬁamqyfwnmsrﬁm%ﬁaqvf?ﬁm
% S 8
(C) =il el &1 7 wiadiedt el % wF
¥ oifw &

(D) ¥ ¥ FIE 7l
XLII



69.

70.

71,

72.

73

74.

The figure shows the circuit symbol of—
Drain

Gate o——! —0 Substrate

Source
(A) FET
(C) CMOSFET

(B) PMOSFET
(D) NMOSFET

In the circuit shown in the figure, if
RL=RC=1kQ,thenthevalueofV0willbe——

+VCC= 5V
R
Vo
V=0 Ry
Ry
(A) 455V
(B) 24V
O1yV
(D) Zero

Given (135),,., +(144),,=(323),,. . What
the vlaue of base x ?

(A) 5 B) 3

©) 12 (D) 6

(1111),in grey code represents—

(A) 9 B) 15

(©) 10 (D) 16

The difference between the measured value
and the true value is called—

(A) Gross error
(C) Probable error

(B) Relative error
(D) Absolute error

Ring main distribution system is more
reliable because of—

(A) More protective devices used

(B) Two or more sources of supply

(C) Higher size of conductor used

SET-A
69. fa3 o fan fa= fuam B-

Drain

Gate o—{ je—0 Substrate

Source

(A) FET (B) PMOSFET
(C) CMOSFET (D) NMOSFET
70. f&d @ wftwy § R =R, =1kQ, @ V &

HHA

(A) 455V
(B) 24V
€)1V
D) =
71, fem & (135), +(144),  =(323), .
base x &1 HH 8—
(A) S oieB)a3
(©) 12 D) 6
72. (1111),% 99 ¥ 5l § 3—
A)9 B) 15
(C©) 10 (D) 16
73. HG T HA 3R T WA B TR B oo
S ST R
(A) 79 Ffe (B) ftfea 3fe
(C) woifem gfe (D) WA
74, T qea famor yoreht sifus favawda ®
iR —
(A) feeh T&O1 SYHO YA B ®
(B) X &1 iy TR & &id B §
(C) =4 QRS & =Ioi® Wga 89

(D) Higher load current

10
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79.

80.

A piece of silver wire has a resistance of
1 Q. What will be the resistance of manganin
wire of one-third length and one-third the
diameter, if the specific resistance of the
manganin is 30 times that of silver—

1
B) 5
(D) 90 Q

1
(A) 5%
©) 9Q

What is the reactance of an 8 pF filter

- capacitor at a frequency of 120 Hz ?

(A) 6.28 Q
(C) 165.9Q

(B) 120 Q
(D) 16.59 O

The maximum bending moment in case of simply
supported beam of span ‘L’ carrying a uniform
distributed load of W tons/cm is equal to—

W12 WL
(A) 1 (B) o
W12 WL?
(©) = (D) >

The maximum slope in case of a cantilever
with a point load at the free end is equal to—

w
4 !
1 E
WL 3
W) Q=55 B Qu-=
_WL4 _WL2
()Qm——ﬁ' ()Qm—*gg

The crest diameter of the screw thread is the—
(A) Largest diameter (B) Minor diameter
(C) Mean diameter (D) None of these

The............ current of a junction FET (JFET)
is practically zero.
(A) Anode (B) Gate

(C) Cathode (D) All of the above

11
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W
4 J
| L
_WL _wr
(A) Qu, = 37 B) Q.= SE
B W-L4 B WLZ
OQu==g O Q.- 3EI
U 8t %1 ¥ = (Crest Diameter) €R1 §—

(A) ¥s9 981 =W (B) @Y =W

(C) 5rew =919 D) T4 ¥ FE T
UF Si&RM FET (JFET) 9 ........... YR YRR
€7 ¥ HF B B

(A) T B)

(C) Heirg (D) SWr Tt
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81.

82

83.

84.

85.

86.

87.

88.

A single phase transformer has maximum
flux is 0.15 Wb at a frequency of 50 Hz. The
emf/turn of transformer is—

(A) 7.5 V/turm (B) 30 V/turn

(C) 33 V/turn (D) None of these

. Which of the following ICs is a voltage regulator ?
(A) CAT23 (B) CA 741
(C) CA3028A (D) CA3065

The pressure P of an ideal gas and its mean
kinetic energy E per unit volume are related
as—

E 3E
(A)P“"_,j (B)P=7
_2E _E
(C)P—"_;)" (D)P—g

The efficiency of the Rankine cycle is given
by—

H,-H, H, +H,
@ H-H,,  ® §-om,
H,+H, H,-H,
©) H1+HW2 D) H1+HWZ

Spark ignition engine works on—
(A) Carnot cycle

(B) Ranking cycle

(C) Constant volume cycle

(D) Constant pressure cycle

- A
The dierctivity of a 5 long wire antenna is—

(A) 1.5 (B) 1.66
(©) 2 D) V2
A cavity isa—

(A) Low pass filter (B) High pass filter
(C) Band pass filter (D) None of these

Inamicrowave magic T, E plane and H plane are—
(A) Isolated (B) In phase
(C) Out of phase (D) None of these

81.
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88.
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SET-A

TH THEAd FHEH &1 Afushan W
0.15 &, 50 &S A W Tl TAFER H

faan T/ ... 2

(A) 7.5-Te=/H (B) 30 aiee/H

(C) 33 aree/A (D) =79 9 &8 &l
fofafan § @ w1 91 ICs diees YR € ?
(A) CA 723 (B) CA 741

(C) CA3028A (D) CA3065

frelt eeel 19 &1 <9 P ol o i T

I "R Tfas et E & srg f=afafea
=Y B E—

E 3E

A)P=7 ®) P=—-
Pl o £o
(© P== D) P==
e = 1 <em Frefafen 9 g0 ==
HT S B—

H,-H, H,+H,
(4) Hl*sz (B) Hl‘sz

H,+H, H,-H,
© H, +Hy, D) H, +Hy,
Tpfen Saem 5 frafafes w w1 Fa 2
(A) FH IF
(B) ¥f#a =%
(C) feer e ==
(D) feer 7= =%

> e e S -

(A) 1.5 (B) 1.66

©2 D) 2

T HiEd 2 |

(A) @t T fret  (B) B% UM frex

(C) 3ve g fireex (D) T8 ¥ FE T
AEwEg B & H B ol Her B £
(A) sEHiiee (B) %9 ¥

(C) o132 % w9 (D) ¥ ¥ Fig TEf
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89.

9G.

91.

92.

93.

94.

95.

The efficiency of an ideal Klystron is about—
(A) 10% (B) 20%
(C) 54% (D) None of these

Which of the folloWing combination of a 3
phase transformer can successfully operate
in parallel—

(A) Y-YandY-A

B)A-YandA-A

(C)A-YandA-Y

(D) None of these

A resistance of 20 Q, an inductance of 0.2 H
and a capacitance of 100 pF are connected
in series across a 220 V, 50 Hz supply. The
impedance of the circuit is—

(A) 71 Q B) 11Q

(C) 3.69Q (D) 369Q

A50MVA, 11 KV, 3¢ alternator supplies full
load at a lagging power factor of 0.7. What
would be the percentage increase in earning
capacity if the load power is increased to 0.95 ?
(A) 3.57% (B) 35.7%

(C) 26.3% (D) 2.63%

The maximum demand on a power station is
100 MW. If the annual load factor is 40%,
the total energy generated in a year will be—
(A) 3504 x 10* KWH
(B) 3504 x 10° KWH
(C) 3.504 x 10* KWH

(D) 3.504 x 10° KWH

For successful working of ground wire, the
footing resistance of tower should be
(A) Low (B) High

(C) Medium (D) None of these

A single phase line has two parallel

conductors 2 meters apart. The diameter of
each conductor is 1.2 cm, the loop inductance

per km of the line will be—
(A) 2.423 mH (B) 24.23 mH
(C) 2423 mH (D) None of these
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SET-A
T ey fhforgm =t g&r (efficiency) ST
o B

(A) 10% (B) 20%

(C) 54% (D) T ¥ HE &l

frefafeg d§ € &9 @ Beda TaEnR
F g GURR W HEOAqas gaea
B 2

(A) Y-YaTY -A

B) A-YTTA-A

(C) A—YTMA-Y

(D) T | ®E &l

TF 20 3H & Yy, TH 0.2 &0 6

Teaeg A1 T 100 pF &1 HeIid 4o %4
# 220 dice, 50 TS AR H THE T T

T gfigy F e (i) ... 2l
(A) 71 Q (B) 11Q
(€) 3.69Q (D) 36.9Q

TF 50 MVA, 11 KV, feia gemEds: 0.7
AT TR Haet W QUNR HElE i € At
we 9 WERE H 0.95 T Fel fEa wE q
affn Sfufad =i e wfov sgmn wem ?
(A) 3.57% (B) 35.7%
(C) 26.3% (D) 2.63%

TF Gk VYA &1 Afasman 19 100 MW 21
e affr YR UTF 40% T @ TF 96 o
ST A TN covvvrennen il

(A) 3504 x 10* KWH
(B) 3504 x 10° KWH
(C) 3.504 x 10* KWH
(D) 3.504 x 105 KWH

URUE TR F HEEAGaF w14 FE e TR
1 HlET W oo B =TfeT

(A) =9 (B) sifu=

(C) 5eaH (D) SWE § &I T8
TF THAE A | 3 AR e T gE

T 2 #iX &1 g W o ¥ vAF 9w w5
= 12 . B, Wi R 9 @ e

TWHE o, T
(A) 2.423 mH (B) 24.23 mH
(C) 242.3 mH (D) ST | FIE &
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96.

9.

98.

99.

100.

Mho relay is used to protect—
(A) Long transmission lines
(B) Medium length lines

(C) Short length lines

(D) All of the above

A single core cable to be used on 50 kV single
phase system. The maximum permissible
stress in dielectric is not to exceed 40 KV/
cm, the most economical value of diameter
of cable is—
(A) 3.33 cm
(C) 3.53 cm

(B) 70.7 cm
(D) 4.33 cm

Out of the following diesel engine the minimum
air consumption per BHP will be in—

(A) 4 stroke, mechanical injection

(B) 4 stroke, air injection

(C) 2 stroke, air injection

(D) 2 stroke, mechanical injection, pump

scavanging
Velocity ratio of a differential pulley is—
% D 2D
(A) 54 ®) 54
c D 2(D-d)
©) 2(D-d) D) D

A ball of mass ‘m’ rolling without sliping on a
horizontal plane with angular velocity ‘@’ and
has rectilinear motion of velocity ‘v’. The kinetic
energy possessed by the body is equal to—

2 2
(A) mvz(l-k—l:TJ (B) 1_11;_(14_5}

mv? I k2 mv? 1 r’
Q7)) B2 IP
Where, k = radius of gyration

r = radius of ball
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 fae e wfad 50 KV uwdea yomet

w® w@m & ™ R 9% Wagd ®
fyeRan 3HT €H 40 KV/em ¥ 3ifue =it

w, o *faw g% M w1 AR SRATHSA
|

(A) 3.33 cm (B) 70.7 cm

(C) 3.53 cm (D) 4.33 cm

frfafas § 9 feg <iva ssm # 3fd BHP
g ! @Yq FAaH Rl

(A) 4 Wi o7a:aqo

(B) 4 W-arg 3ia:&qu

(C) 2 WIF-a1g 3ia:&qu

(D) 2 Wih-aife 37a:&qv, T =

2(D-d)
Om-a © =%

‘m’ SSIUA F T g edt dfve e W
fom freet e w1 81 39 SRH suel i
Tfd & BT A ‘o’ B, IR Waw R @@

v &1 g ¥ fifeq e s Fratated
& SO Bhi—

.2 2
(A) mv? [1+%] (B) m%(].,.k}

o 28] m Tl
2 r2 D) s K2
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XLII



